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DIRECTION
Practice
Sheet

1. A man walking towards north after walking 100 m turns
right and walk 75 m again he turns right and walk 100
m and last movement he turns left and walk 25 m now
which direction he is walking?

mÙkj dh vksj pyus okyk ,d vkneh 100 ehVj pyus ds ckn nk,a eqM+rk
gS vkSj 75 ehVj pyrk gS fiQj og nk,a eqM+rk gS vkSj 100 ehVj pyrk
gS vkSj vkf•jh ckj og ck,a eqM+rk gS vkSj 25 ehVj pyrk gS vc og
fdl fn'kk esa py jgk gS\

(a) North / mÙkj (b) South / nf{k.k

(c) West / if'pe (d) East / iwjc

2. A man walks in straight 100 m and truns his right and
walk 75 m. Again he turns his right and walk 100 m.
And last he turn his left and walk 25 m. If now he is
walk in north direction. Now find that is starting from
which direction?

,d vkneh lh/s 100 ehVj pyrk gS vkSj nkbZa vksj eqM+dj 75 ehVj pyrk
gSA og fiQj ls nk,¡ eqM+rk gS vkSj 100 ehVj pyrk gSA vkSj var esa og
ck;ha vksj eqM+rk gS vkSj 25 ehVj pyrk gSA ;fn vc og mÙkj fn'kk esa py
jgk gSA vc irk yxk,a fd ;g fdl fn'kk ls 'kq: gks jgk gS\

(a) East / iwjc (b) West / if'pe

(c) North / mÙkj (d) South / nf{k.k

3. A man walk towards north first he turns is 45º clockwise
then he turns 90º Anticlockwise. At last he turns 135º
clockwise. Now his face on which side?

,d vkneh mÙkj dh vksj pyrk gS] igys og 45° nf{k.kkorZ fn'kk esa
eqM+rk gS] fiQj og 90° okekorZ fn'kk esa eqM+rk gSA var esa og nf{k.kkorZ
fn'kk esa 135° ?kwe tkrk gSA vc mldk psgjk fdl rjiQ\

(a) North / mÙkj (b) West / if'pe

(c) East / iwjc (d) South / nf{k.k

4. A man walk in 1 km east. Now he turns south and walk
5 km again he turns east and walk 2 km. At last he
turns north and walk 9 km. Now find that he is which
direction and how far away.

,d vkneh 1 fdeh iwjc dh vksj pyrk gSA vc og nf{k.k dh vksj
eqM+rk gS vkSj 5 fdeh pyrk gS fiQj og iwjc dh vksj eqM+rk gS vkSj 2
fdeh pyrk gSA var esa og mÙkj dh vksj eqM+rk gS vkSj 9 fdeh pyrk
gSA vc irk yxk,a fd og fdl fn'kk esa gS vkSj fdruh nwj gSA

(a) 5 km, North-Eeast / 5 fdeh mÙkj&iwjc

(b) 10 km, South-Eeast / 10 fdeh nf{k.k&iwjc

(c) 10 km, South-West / 10 fdeh nf{k.k&if'pe

(d) 5 km, North-West / 5 fdeh mÙkj&if'pe

5. A is 6 km east from B and C is 4 km north to B. D is 12
km south from C, now D in whihch direction and how
far from A?

A, B ls iwjc esa 6 fdeh gS vkSj C, B ls 4 fdeh mÙkj esa gSA D, C ls
12 fdeh nf{k.k esa gS] vc D, A ls fdl fn'kk esa vkSj fdruh nwj gS\

(a) 5 km, North-Eeast / 5 fdeh mÙkj&iwjc

(b) 10 km, South-Eeast / 10 fdeh nf{k.k&iwjc

(c) 10 km, South-West / 10 fdeh nf{k.k&if'pe

(d) 5 km, North-West / 5 fdeh mÙkj&if'pe

6. A man walk is north direction. After he walk 1 km he
turn his right 45º and walk 2 km. Again he turn his
right and walk same distance. Now find that he is on
which direction or how far from the initial point?

,d vkneh mÙkj fn'kk dh vksj pyrk gSA 1 fdeh pyus ds ckn og viuh
nk;ha vksj 45° eqM+rk gS vkSj 2 fdeh pyrk gSA og fiQj ls nk;ha vksj
eqM+rk gS vkSj leku nwjh rd pyrk gSA vc og vkjafHkd fcanq ls fdruh
nwj vkSj fdl fn'kk esa gS\

(a) 3 km, North-Eeast / 3 fdeh mÙkj&iwjc

(b) 3 km, South-Eeast / 3 fdeh nf{k.k&iwjc

(c) 5 km, South-West / 5 fdeh nf{k.k&if'pe

(d) 5 km, North-West / 5 fdeh mÙkj&if'pe

7. In the morning A man was performing Yoga with (i) Head
down and legs up, if at this time his face towards west
than which direction his left hand would be?

lqcg ,d vkneh (i) flj uhps vkSj iSj Åij djds ;ksx dj jgk Fkk] ;fn
bl le; mldk eq• if'pe dh vksj gks rks mldk ck;ka gkFk fdl fn'kk
esa gksxk\

(a) East / iwjc (b) West / if'pe

(c) North / mÙkj (d) South / nf{k.k

8. A morning to friend Reeta and Kavita talks to each other.
If at the time Kavita shadow from the left side of Reeta,
now find that Kavita face on which direction?

,d lqcg nksLr jhrk vkSj dfork ,d nwljs ls ckr djrs gSaA ;fn ml le;
dfork jhrk ds ck;ha vksj ls ijNkbZ curh gS] rks vc Kkr dhft, fd
dfork dk eq• fdl fn'kk esa gS\

(a) North / mÙkj (b) South / nf{k.k

(c) West / if'pe (d) East / iwjc

9. An evening Gopal saw a pool . If at the time a pool shadow
made his right, now find that Gopal face which direction?

,d 'kke xksiky dks ,d rkykc fn•kbZ fn;kA ;fn ml le; rkykc dh
Nk;k mlds nkfguh vksj cuh gks] rks vc Kkr dhft, fd xksiky dk eq•
fdl fn'kk esa gS\

(a) North / mÙkj (b) South / nf{k.k

(c) West / if'pe (d) East / iwjc

10. A man walked 60 m. to the East from point A, then turn
right and walked 50 m. In last he turn left and went for
60 m. and reached at point B. Find AB?

,d vkneh 60 ehVj pykA fcanq A ls iwoZ dh vksj] fiQj nk,a eqM+sa vkSj 50
ehVj pysaA var esa og ck,a eqM+k vkSj 60 ehVj pykA vkSj fcanq B ij igq¡p
x;kA AB Kkr dhft,\
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(a) 170 m. (b) 130 m.

(c) 145 m. (d) 150 m.

11. Sumit walks 20 m. to the East from point 'A', then walks
20 m. in South-West direction. Then walks 20 m in
North-West direction and reaches at point B. Find
distance b/w A and B.?

lqfer fcanq 'A' ls iwoZ dh vksj 20 ehVj pyrk gS] fiQj nf{k.k&if'pe
fn'kk esa 20 ehVj pyrk gSA fiQj mÙkj&if'pe fn'kk esa 20 ehVj pyrk gS
vkSj fcanq B ij igqaprk gSA A vkSj B ds chp dh nwjh Kkr djsa\

(a) 0 m. (b) (20 2 –1) m.

(c) 20 m. (d) 20 2  m.

12. A man walks 30 m. to the North from point A then turns
Left walks 10 m. Again turns left and walks 6 m, Then
again turns left and walks 3 m and reach's at point B.
Find distance and direrction from A to B.?

,d vkneh 30 ehVj pyrk gS- fcanq A ls mÙkj dh vksj fiQj ck,a eqM+dj
10 ehVj pyrk gSA fiQj ck;ha vksj eqM+rk gS vkSj 6 ehVj pyrk gS] fiQj
ck;ha vksj eqM+rk gS vkSj 3 ehVj pyrk gS vkSj fcanq B ij igqaprk gSA A
ls B rd dh nwjh vkSj fn'kk Kkr djsa\
(a) 20 m. (S.W.) (b) 30 m. (S.E.)

(c) 25 m. (N.E.) (d) 25 m. (N.W)

13. Rohan's schools's bus face was in North when it reached
in school. After started from bus stand it was turn two
times to the right, one time in left and then reached at
school. In which direction was the face of bus when it
was on bus-stand.

jksgu ds Ldwy dh cl tc Ldwy igq¡ph rks mldk eq• mÙkj dh vksj FkkA
cl LVSaM ls pyus ds ckn nks ckj nk;ha vksj] ,d ckj ck;ha vksj eqM+k vkSj
fiQj Ldwy igq¡p x;kA tc cl cl&LVSaM ij Fkh rks mldk eq• fdl fn'kk
esa FkkA

(a) North / mÙkj (b) East / iwjc

(c) West / if'pe (d) South / nf{k.k

14. In the morning after sunrise Ram and Shyam talking
with each other standing in front of each other. If the
shadow of Ram falls left to the Shyam. then in which
direction is Shyam's Face?

lqcg lw;kZsn; ds ckn jke vkSj ';ke ,d nwljs ds lkeus •M+s gksdj vkil
esa ckr dj jgs FksA jke dh Nk;k iM+s rks ';ke ds ck,¡A rks ';ke dk eq•
fdl fn'kk esa gS\

(a) East (b) South / nf{k.k

(c) North / mÙkj (d) West / if'pe

15. In the evening before Sunset at 6 P.M. Rohit stands in
front of a 'Electric board'. If the shadow of Board falls
just left to the Rohit. Then in which direction is Rohit's
Face?

'kke dks lw;kZLr ls igys 6 cts- jksfgr ,d ^bysfDVªd cksMZ* ds lkeus
•M+k gSA ;fn cksMZ dh Nk;k jksfgr ds Bhd ck;ha vksj iM+rh gSA rks fiQj
jksfgr dk eq• fdl fn'kk esa gS\

(a) East / iwjc (b) North / mÙkj

(c) South / nf{k.k (d) West / if'pe

16. The Hour hand of a clock is in North. at 4:30. Then Find
direction of Minute hand at 7:00 o'clock.

?kM+h dh ?kaVs okyh lqbZ mÙkj fn'kk esa gksrh gSA 4%30 cts- fiQj 7% 00 cts
feuV dh lqbZ dh fn'kk Kkr djsaA

(a) South / nf{k.k
(b) South-West

(c) South-East / nf{k.k&if'pe

(d) East / iwjc

17. The Minute hand of a clock is in North-East at 4:30.
Then in which direction the hour hand will be at 10:30

,d ?kM+h dh feuV dh lqbZ 4% 30 cts mÙkj&iwoZ esa gksrh gSA rks fiQj
10 % 30 cts ?kaVs dh lqbZ fdl fn'kk esa gksxh

(a) South / nf{k.k

(b) North-West / mÙkj&if'pe

(c) West / if'pe

(d) North-East / mÙkj&iwoZ

18. A man starts from a point, walks 4 miles towards north
and turns left and walks 6 miles, turns right and walks
3 miles and again turns right and walks 4 miles and
takes rest for  30 minutes. He gets up and walks straight
2 miles in the same direction and turns right and walks
one mile. What is the direction he is facing ?

,d vkneh ,d fcanq ls 'kq: djrk gS] mÙkj dh vksj 4 ehy pyrk gS vkSj
ck,a eqM+rk gS vkSj 6 ehy pyrk gS] nk,a eqM+rk gS vkSj 3 ehy pyrk gS
vkSj fiQj nk,a eqM+rk gS vkSj 4 ehy pyrk gS vkSj 30 feuV rd vkjke
djrk gSA og mBrk gS vkSj mlh fn'kk esa lh/s 2 ehy pyrk gS vkSj nk,a
eqM+dj ,d ehy pyrk gSA mldk eq• fdl fn'kk dh vksj gS\

(a) North / mÙkj (b) South / nf{k.k

(c) West / if'pe (d) East / iwjc

19. Arun started from point A and walked 10 kms East to
point B, then turned to North and walked 3 kms to point
C and then turned West and walked 12 kms  to point D,
then again turned South and walked 3 kms to point E.
In which direction is he from his  starting point ?

v#.k us fcanq A ls 'kq#vkr dh vkSj fcanq B rd 10 fdyksehVj iwoZ dh
vksj pyk] fiQj mÙkj dh vksj eqM+ x;k vkSj fcanq C rd 3 fdyksehVj pyk
vkSj fiQj if'pe dh vksj eqM+ x;k vkSj fcanq D rd 12 fdyksehVj pyk]
fiQj nf{k.k dh vksj eqM+ x;k vkSj fcanq E rd 3 fdyksehVj pykA og
vius çkjafHkd fcanq ls fdl fn'kk esa gS\

(a) East / iwjc (b) South / nf{k.k

(c) West / if'pe (d) North / mÙkj

20. A driver left his village and drove North for 20 kms. after
which he stopped for breakfast. Then he turned left and
drove another 30 kms, when he stopped for lunch. After
some rest, he again turned left and drove 20 kms before
stopping for evening tea. Once more he turned left and
drove 30 kms to reach the town where he had super.
After evening tea in which direction did he drive ?

,d Mªkboj us viuk xk¡o NksM+ fn;k vkSj mÙkj dh vksj 20 fdyksehVj rd
xkM+h pyk;hA ftlds ckn og uk'rs ds fy, #dsA fiQj og ck,a eqM+k vkSj
30 fdeh vkSj pyk] tc og nksigj ds Hkkstu ds fy, #dkA dqN nsj
vkjke djus ds ckn] og fiQj ck;ha vksj eqM+k vkSj 'kke dh pk; ds fy,
#dus ls igys 20 fdyksehVj pykA ,d ckj fiQj og ck;ha vksj eqM+k vkSj
30 fdyksehVj xkM+h pykdj ml 'kgj rd igqapk tgka mldk lqij FkkA
'kke dh pk; ds ckn og fdl fn'kk esa pyk\

(a) East / iwjc (b) South / nf{k.k

(c) West / if'pe (d) North / mÙkj
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21. Sitara walked 45 metres in North-West from her uncle's
house. There she met her friend and they walked 45
metres in South-West direction. Then they walked 45
metres in South-East direction and turned to uncle's
house. Now in which direction they are going ?

flrkjk vius pkpk ds ?kj ls mÙkj&if'pe esa 45 ehVj pyhA ogka mldh
eqykdkr vius nksLr ls gqbZ vkSj os nf{k.k&if'pe fn'kk esa 45 ehVj rd
pysA fiQj os nf{k.k&iwoZ fn'kk esa 45 ehVj pys vkSj pkpk ds ?kj dh vksj
eqM+ x,A vc os fdl fn'kk esa tk jgs gSa\

(a) North-West / mÙkj&if'pe

(b) South-West / nf{k.k&if'pe

(c) North-East / mÙkj&iwoZ

(d) South-East / nf{k.k&iwoZ

22. The mall is 250 metres North-West of the market. The
school is 250 metres south-west of the market. In which
direction is the school from the mall ?

ekWy cktkj ls 250 ehVj mÙkj&if'pe esa gSA Ldwy cktkj ls 250 ehVj
nf{k.k&if'pe esa gSA ekWy ls Ldwy fdl fn'kk esa gS\

(a) East / iwjc (b) West/ if'pe

(c) South / nf{k.k (d) North / mÙkj

23. Of the 5 houses A, B, C, D and E situated close to each
other. A is to the west of B, C is to the south of A, E is to
the north of B and D is to the east of E. Then C is in
which direction with respect to D ?

5 ?kjksa esa ls A, B, C, D vkSj E ,d nwljs ds djhc fLFkr gSaA A, B ds
if'pe esa gS] C, A ds nf{k.k esa gS] E, B ds mÙkj esa gS vkSj D, E ds
iwoZ esa gSA rks D ds laca/ esa C fdl fn'kk esa gS\

(a) South-West / nf{k.k&if'pe

(b) North-East / mÙkj&iwoZ

(c) North-West / mÙkj&if'pe

(d) South-East/ nf{k.k&iwoZ

24. Mamta walks 14 metres towards west, then turns to
her right and walks 14 metres and then turns to her left
and walks 10 metres. Again turning to her left she walks
14 metres. What is the shortest distance (in metres)
between her starting point and her present position ?

eerk 14 ehVj if'pe dh vksj pyrh gS] fiQj viuh nkbZa vksj eqM+rh gS
vkSj 14 ehVj pyrh gS vkSj fiQj viuh ckbZa vksj eqM+rh gS vkSj 10 ehVj
pyrh gSA iqu% ck;ha vksj eqM+dj og 14 ehVj pyrh gSA mlds çkjafHkd
fcanq vkSj mldh orZeku fLFkfr ds chp U;wure nwjh (ehVj esa) D;k gS\
(a) 38 m (b) 28 m

(c) 24 m (d) 10 m

25. Ashok wants to book a ticket to Madurai. He starts and
covers 5 kms. to reach the Booking Office which is in
the East of his house. From there he turns to the North
towards the market by travelling 3 kms. From there he
turns left to his friend Sandeep's house which is 5 kms
away. Now he has to get back to his house. How many
kms. he has to cover to reach his house ?

v'kksd enqjS ds fy, fVdV cqd djuk pkgrk gSA og pyuk 'kq: djrk
gS vkSj 5 fdeh pyrk gSA cqfdax dk;kZy; rd igq¡pus ds fy, tks mlds
?kj ds iwoZ esa gSA ogka ls og 3 fdeh dh ;k=kk djds mÙkj dh vksj cktkj
dh vksj eqM+rk gSA ogka ls og ck,a eqM+dj vius nksLr lanhi ds ?kj dh
vksj tkrk gS tks 5 fdeh nwj gSA vc mls vius ?kj okil tkuk gSA mls
vius ?kj rd igq¡pus ds fy, fdruh nwjh r; djuh gksxh\

(a) 8 kms (b) 3 kms

(c) 5 kms (d) 6 kms

26. Siddharth and Murli go for jog ging from the same point

Siddharth goes towards the east covering 4 kms. Murli

proceed towards the West for 3 kms. Siddharth turns

left and covers 4 kms and Murli turns to the right to

cover 4 kms. Now what will be the distance between

Siddharth and Murli ?

fl¼kFkZ vkSj eqjyh ,d gh LFkku ls tkWfxax ds fy, tkrs gSa] fl¼kFkZ 4
fdeh dh nwjh r; djrs gq, iwoZ dh vksj tkrk gSA eqjyh 3 fdyksehVj rd
if'pe dh vksj vkxs c<+rk gSA fl¼kFkZ ck;ha vksj eqM+rk gS vkSj 4 fdeh
dh nwjh r; djrk gS vkSj eqjyh nk;ha vksj eqM+dj 4 fdeh dh nwjh r;
djrk gSA vc fl¼kFkZ vkSj eqjyh ds chp fdruh nwjh gksxh\
(a) 14 kms. (b) 6 kms.

(c) 8 kms. (d) 7 kms.

27. Sandhya walks straight from point A to B which is 2

kms away. She turns left, at 90° and walks 8 kms to C,

where she turns left again at 90° and walks 5 kms to D.

At D she turns left at 90° and walks for 8 kms to E. How

far is she from A to E?

laè;k fcanq A ls B rd lh/h pyrh gS tks 2 fdeh nwj gSA og 90° ij
ck,a eqM+rh gS vkSj C rd 8 fdeh pyrh gS] tgka og 90° ij fiQj ls
ck,a eqM+rh gS vkSj D rd 5 fdeh pyrh gSA D ij og 90° ij ck,a
eqM+rh gS vkSj E rd 8 fdeh pyrh gSA og A ls E rd fdruh nwj gS\
(a) 2 km (b) 3 km

(c) 5 km (d) 8 km

28. Mira starts at point T, walks straight to point U which is

4 ft. away. She turns left, at 90° and walks to W which

is 4 ft away, turns 90° right and goes 3 ft. to P, turns

90° right and walks 1 ft. to Q, turn left at 90° and goes

to V, which is 1 ft. away and once again turns 90° right

and goes to O, 3 ft. away. What is the distacne between

T and O?

ehjk fcanq T ls 'kq: djrh gS] lh/s fcanq U rd pyrh gS tks 4 iQhV nwj
gSA og ck;ha vksj 90° ij eqM+rh gS vkSj W dh vksj pyrh gS tks 4 iQhV
nwj gS] 90° nkfguh vksj eqM+rh gS vkSj 3 iQhV P rd tkrh gS] 90° nkfguh
vksj eqM+rh gS vkSj 1 iQhV Q rd pyrh gS] 90° ij ck;ha vksj eqM+rh gS
vkSj V dh vksj tkrh gS ] tks 1 iQhV nwj gS vkSj ,d ckj fiQj 90° nkfguh
vksj eqM+rk gS vkSj 3 iQhV nwj O ij tkrk gSA T vkSj O ds chp fdruk
varj gS\
(a) 4 ft. (b) 5 ft.

(c) 7 ft. (d) 8 ft.

29. Karan facing towards south moved straight 2 km and

from there turned to his right 90° and travelled 2 km.

Then he took a 45° turn to his left and travelled 1 km.

Where would he be now with respect to the strarting

point?

dj.k nf{k.k dh vksj eq• djds lh/s 2 fdeh pyk vkSj ogka ls vius
nkfguh vksj 90° eqM+dj 2 fdeh pykA fiQj og viuh ck;ha vksj 45°

eqM+k vkSj 1 fdeh pykA vkjafHkd fcanq ds laca/ esa vc og dgka gksxk\

(a) South-region / nf{k.k {ks=k

(b) South-east region / nf{k.k&iwoZ {ks=k

(c) North-west region / mÙkj&if'pe {ks=k

(d) South-west region / nf{k.k&if'pe {ks=k
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Direction (30–31): Pawan walks 20 m north, he turns

right and walks 30 m, then he turns right and walks 35 m,

then he turns left and walks 15 m then he turns left and

walks 15 m. he again turns left and walks 15m.

iou 20 ehVj mÙkj dh vksj pyrk gS] og nk,a eqM+rk gS vkSj 30 ehVj
pyrk gS] fiQj og nk,a eqM+rk gS vkSj 35 ehVj pyrk gS] fiQj og ck,a eqM+rk
gS vkSj 15 ehVj pyrk gS] fiQj og ck,a eqM+rk gS vkSj 15 ehVj pyrk gSA og
fiQj ck;ha vksj eqM+rk gS vkSj 15 ehVj pyrk gSA

30. How far Kiran is from his starting point?

fdj.k vius çkjafHkd fcanq ls fdruh nwj gS\
(a) 25 m (b) 15 m

(c) 45 m (d) 30 m

31. Which directionis Kiran facing now?

vc fdj.k dk eq• fdl fn'kk esa gS\

(a) East / iwjc (b) West / if'pe

(c) North / mÙkj (d) South / nf{k.k
32. X starts from a point P towards west and reaches

next point Q. From there he turns towards North and

reaches place R. From there he takes turn towards

South-West and reaches a place S. From there he

takes turn towards North-West and reaches place T.

The path of his journey is correctly shown by which

of the given responses.

X, fcanq P ls if'pe dh vksj pyuk 'kq: djrk gS vkSj vxys fcanq Q
ij igqaprk gSA ogka ls og mÙkj dh vksj eqM+rk gS vkSj LFkku R ij igqaprk
gSA ogka ls og nf{k.k&if'pe dh vksj eqM+rk gS vkSj LFkku S ij igqaprk
gSA ogka ls og mÙkj&if'pe dh vksj eqM+rk gS vkSj LFkku T ij igq¡p tkrk
gSA mldh ;k=kk dk ekxZ fn, x, mÙkjksa esa ls fdlls lgh <ax ls n'kkZ;k
x;k gSA

(a)

T R

S

QP

(b)

TR

S

Q P

(c)

T R

S

Q P

(d)
T R

S

Q P

33. Gaurav exits from the backdoor of his north-facing house

and walks 25 m straight, then he takes a left turn and

walks 36 m, then he turns left and walks 47 m. He turns

left again and walks 36 m. How far and in which direction

is he from his house now?

xkSjo vius ml ?kj ds fiNys njokts ls ckgj fudyrk gS ftldk eq[;
n~okj mÙkj fn'kk dh vksj gS vkSj 25 m lhèkk pyrk gS] fiQj og ck,a
eqM+rk gS vkSj 36 m pyrk gS] og fiQj ck,a eqM+rk gS vkSj 47 m pyrk
gSA og fiQj ls ck,a eqM+rk gS vkSj 36 m pyrk gSA vc og vius ?kj ls
fdruh nwj vkSj fdl fn'kk esa gS\

(a) 11 m, South/11 m, nf{k.k

(b) 11 m, North/11 m, mÙkj

(c) 22 m, North/22 m, mÙkj

(d) 22 m, South/22 m, nf{k.k

34. Reeta is standing facing south-east. First, she turns 135°
clockwise. After that she turns 90° anticlockwise. Then
she turns 45° clockwise, followed by a 135° anticlockwise
turn. In which direction is she facing now?

jhrk nf{k.k&iwoZ dh vksj vfHkeq[k gksdj [kM+h gSA lcls igys] og 135°

nf{k.kkorZ eqM+rh gSA mlds ckn] og 90° okekorZ eqM+rh gSA fiQj og 45°

nf{k.kkorZ eqM+rh gS] mlds ckn 135° okekorZ eqM+rh gSA vc og fdl
fn'kk esa vksj vfHkeq[k gS\
(a) East/iwoZ (b) North-east/mÙkj&iwoZ

(c) South/nf{k.k (d) South-east/nf{k.k&iwoZ
35. Six houses, A, B, C, D, E and F, are situated in a colony.

D is 60 m south of E. F is 40 m south of B. A is 30 m
north of E. F is 50 m east of A. C is 50 m west of B. Find
the location of C with reference to A.

Ng ?kj A, B, C, D, E vkSj F, ,d dkWyksuh esa fLFkr gSA D, E ds 60

m nf{k.k esa vkSj F, B ds 40 m nf{k.k eas gSA A, E  ds 30 m mÙkj
eas gSA F, A ds 50 iwoZ eas gSA C, B ds 50 m if'pe esa gSA A ds lanHkZ
esa C dk LFkku Kkr djasA
(a) 40 m North/40 m mÙkj (b) 30 m East/30 m iwoZ

(c) 50 m north/50 m mÙkj (d) 40 m  South/40 m nf{k.k
36. Srinija walked 9 km towards the west from her home,

then turned towards the south and walked 11 km. Then
she walked 13 km towards the east, and finally walked
4 km towards the west. How far is Srinija from her initial
position?

Jhfutk vius ?kj ls 9 km if'pe dh vksj pyh] fiQj nf{k.k dh vksj
eqM+h vkSj 11 km pyhA fiQj og iwoZ dh vksj 13 km pyh vkSj var
esa if'pe dh vksj 4 km pyhA vc Jhfutk vius izkjafHkd LFkku ls fdruh
nwjh ij gS\
(a) 15 km (b) 10 km

(c) 13 km (d) 11 km

37. Eight north-facing restaurants named P, Q, R, S, T, U,
V and W are located in a straight line. S is second to the
left of T. W is third to the left of P. T is between P and V.
S is third to the left of V. W is to the immediate right of
U. R is third to the right of P. Which restaurant is sitting
fourth to the right of S?

P, Q, R, S, T, U, V vkSj W uke ds vkB mÙkj&eq[kh jsLrjka ,d lhèkh
iafDr esa fLFkr gSaA S, T ds ck;sa nwljs LFkku ij gSA W, P ds ck;as rhljs
LFkku ij gSA T Bhd P vkSj V ds chp eas gSaA S, V ds ck;sa rhljs LFkku
ij gSA W, U ds Bhd nk;sa iM+ksl esa gSaA R, P ds nk;sa rhljs LFkku ij gSA
S ds nk;sa pkSFks LFkku ij dkSu&lk jsLrjka fLFkr gS\
(a) U (b) V

(c) R (d) W

38. One morning, Chitrashi and Ayaan sit facing each other.
If the shadow of Ayaan falls to the left of Chitrashi, then
in which direction is Ayaan facing?

,d lqcg] fp=kk'kh vkSj v;ku ,d nwljs ds vkeus&lkeus cSBrs gSaA ;fn
v;ku dh Nk;k fp=kk'kh ds ckb± vksj iM+rh gS] rks v;ku fdl fn'kk esa
vfHkeq[k gS\
(a) South/nf{k.k (b) North/mÙkj

(c) East/iwoZ (d) West/if'pe
39. Sahasra started running from her house towards the

north. After 40 meters she turned left ran for 75 meters.
She then turned right and ran for 30 meters, and again
turned right to run 75 meters. In which direction was
she running finally?
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lgLkzk vius ?kj ls fudydj mÙkj fn'kk dh vksj nkSM+us yxhA 40 ehVj ds
ckn og ck,a eqM+rh gS vkSj 75 ehVj rd nkSM+rh gSA fiQj og nk;ha vksj
eqM+h vkSj 30 ehVj nkSM+h] vkSj fiQj nk;ha vksj eqM+dj 75 ehVj nkSM+hA og
var esa fdl fn'kk eas nkSM+ jgh Fkh\
(a) West/if'pe (b) South/nf{k.k

(c) North/mÙkjh (d) East/iwoZ
40. Which of the option figures when rotated 180o clockwise

and then 45o anticlockwise will result in the given
question figure?

180° nf{k.kkorZ vkSj fiQj 45° okekorZ ?kqekus ij fuEu esa ls dkSu&lh
fodYi vkÑfr fcYdqy nh xbZ iz'u vkÑfr ds tSlh gks tk,xh\

(a) (b)

(c) (d)

41. At the time of sunset, Lopa and Kritika are sitting facing
each other. If the shadow of Lopa falls to the right of
Kritika, in which direction is Kritika facing?

Lkw;kZLr ds le; yksik vkSj Ñfrdk vkeus&lkeus cSBs gSaA ;fn yksik dh
Nk;k Ñfrdk ds nk;h vksj iM+rh gS] rks Ñfrdk fdl fn'kk dh vksj vfHkeq[k
gS\
(a) South/nf{k.k (b) North/mÙkj

(c) West/if'pe (d) East/iwoZ
42. ‘P$Q’ means ‘P is to the north of Q’.

‘P$Q’ dk vFkZ gS fd ‘P, Q ds mÙkj esa gS’A
‘P&Q’ means ‘P is to the east of Q’.

‘P&Q’ dk vFkZ gS ‘P, Q ds iwoZ esa gS’A
‘P*Q’ means ‘Q is to the west of P’.

‘P*Q’ dk vFkZ gS ‘Q, P ds if'pe esa gS’A
‘P%Q’ means ‘Q is to the south of P’.

‘P%Q’ dk vFkZ gS ‘P, Q ds nf{k.k esa gS’A
‘P@QR’, means ‘P stands exactly in the middle of
horizontal line QR’

‘P@QR’, dk vFkZ gS fd ‘P {kSfrt js[kk QR ds Bhd chp esa fLFkr gS’A
‘P!QR’ means ‘P stands exactly in the middle of vertical
line QR’.

‘P!QR, dk vFkZ gS fd ‘P mèokZèkj js[kk QR ds Bhd chp esa fLFkr gS’A
Note: ‘P6m$Q’ means ‘P is 6 m to the north of Q’ and so
on.

uksV% ‘P6$Q’ dk vFkZ gS fd ‘P, Q ds mÙkj esa 6 ehVj nwjh ij gS’ vkSj
blh rjgA
Find the shortest distance between G and C in the
following expression.

fuEufyf[kr O;atd eas G vkSj C dss chp U;ure nwjh Kkr dhft,A
C12m$S5m*G3m&J6m%K!JT

(a) 12 m (b) 10 m

(c) 15 m (d) 13 m

43. Shweta starts walking from her office and walks 150 m
towards the south, then she turns right and walks 80
m, and then she turns left and walks 60 m. She finally
turns left and walks 280 m to reach a bank. What is the
shortest distance between her office and the bank?

'osrk vius dk;kZy; ls pyuk 'kq: djrh gS vkSj nf{k.k dh vksj 150

m pyrh gS] fiQj og nk,a eqM+rh gS vkSj 80 m pyrh gS] vkSj fiQj og
ck,a eqM+rh gS vkSj 60 m pyrh gSA og var esa ck,a eqM+rh gS vkSj ,d
cSad rd igaqpus ds fy, 280 m pyrh gSA mlds dk;kZy; vkSj cSad ds
chp dh U;wure nwjh fdruh gS\
(a) 280 m (b) 290 m

(c) 410 m (d) 370 m

44. Which of the option figures, when rotated 135° clockwise
followed by 45° anticlockwise, will result in the given
question figure?

dkSu&lh fodYi vkÑfr 135° nf{k.kkorZ vkSj mlds ckn 45° okekorZ
?kqekus tkus ij nh xbZ iz'u vkÑfr tSlh gks tk,xh\

(a) (b)

(c) (d)

45. Vijendra walks a certain distance, say X metres, from
his home towards the west. The he turns left and walks
23 metres. After that, he turns left and walks 36 metres.
Then he turns left again to walk 23 metres. He finally
turns left and walks 18 metres to reach his home. Find
the value of X.

fotasnz vius ?kj ls fudydj if'pe dh vksj ,d fuf'pr nwjh] eku
yhft, X ehVj pyrk gSA fiQj og ck,a eqM+rk gS vkSj 23 ehVj pyrk
gSA mlds ckn] og ck,a eqM+rk gS vkSj 36 ehVj pyrk gSA rc og fiQj
ls ck,a eqM+rk gS vkSj 23 ehVj pyrk gSA og var esa cka, eqM+rk gS vkSj
vius ?kj igqapus ds fy, 18 ehVj pyrk gSA X dk eku Kkr djsaA
(a) 22 (b) 18

(c) 20 (d) 41

46. Shashank walks a certain distance, say X m, towards
the west, then turns left and walks 35 m, and then turns
right and walks 18 m. From there, he turns left and
walks 9 m, and then turns left again and walks 60 m.
From there, he turns left and walks 9 m, and then turns
left again and walks 12 m. He finally turns right and
walks 35 m to reach a point that is exactly 10 m to the
east of the starting point. What is the value of X?
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'k'kkad if'pe dh vksj ,d fuf'pr nwjh X m pyrk gSA fiQj ck,a eqM+rk
gS vkSj 35 m pyrk gS] vkSj fiQj nk,a eqM+rk gS vkSj 18 m pyrk gSA
ogka ls og ck,a eqM+rk gS vkSj 9 m pyrk gS] vkSj fiQj ck,a eqM+rk gS vkSj
60 m pyrk gSA ogka lk ck,a eqM+rk gS vkSj 9 m pyrk gS] vkSj fiQj ck,a
eqM+rk gS vkSj 12 m pyrk gSA og var esa nk;sa eqM+rk gS vkSj 35 m

pyrk gSA vkSj ml fcUnq rd igqaprk gS tks izkjafHkd fcUnq ds iwoZ esa Bhd
10 m dh nwjh ij gSA X dk eku fdruk gS\
(a) 30 (b) 36

(c) 20 (d) 22

47. Which of the option figures when rotated 135° clockwise
and then 45° anticlockwise will result in the given
question figure?

135° nf{k.kkorZ vkSj fiQj 45° okekorZ ?kqek, tkus ij dkSu&lh fodYi
vkÑfr nh xbZ iz'u vkÑfr ds tSlh gks tk,xh\

(a) (b)

(c) (d)

48. Zainab is standing facing a particular direction initially.
Then she turns 90° clockwise, after that she turns 180°
anticlockwise. Then she turns 135° anticlockwise. She
finally turns 180° clockwise. Now she is facing the north-
east direction. In which direction was Zainab facing
initially before taking any turns?

tSuc 'kq: eas fdlh fn'kk dh vksj vfHkeq[k gksdj [kM+h gSA fiQj og 90°

nf[k.kkorZ ?kwerh gS] mlds ckn og 180° okekorZ ?kwerh gSA fiQj og
135° okekorZ ?kwerh gSA og var eas 180° nf{k.kkorZ ?kwerh gSA vc og
mÙkj&iwoZ fn'k dh vksj vfHkeq[k gSA tSuc ?keus ls igys 'kq#vkr eas fdl
fn'kk dh vksj vfHkeq[k gksdj [kM+h Fkh\
(a) East/iwoZ
(b) West/if'pe
(c) North-west/mÙkj if'pe
(d) South/nf{k.k

49. Neha departs from her home and walks 51 m towards
the south and then turns left and walks 44 m. Now she
turns left again and walks 83 m. How far is she from a
pole that is exactly 32 m north from her home now?
(Assuming that all turns are 90 degree turns only)

usgk vius ?kj ls fudyrh gS vkSj 51 ehVj nf{k.k dh vksj pyrh gS vkSj
fiQj ck,a eqM+dj 44 ehVj pyrh gSA vc og fiQj ls ck;ha vksj eqM+rh gS
vkSj 83 ehVj pyrh gSA og ml •aHks ls fdruh nwj gS tks vHkh mlds ?kj
ls Bhd 32 ehVj mÙkj esa gS\ (;g ekurs gq, fd lHkh eksM+ dsoy 90
fMxzh ds eksM+ gSa)
(a) 14m (b) 7m

(c) 39m (d) 44m

50. Suman drives 3 km towards north from point A. She
takes a right turn and drives 4 km more. Then she takes
another right turn and drives 3 km. Finally, she takes
one more right turn and drives 6 km to reach point B.How
far and towards which direction should she drive in order
to reach point A again?

lqeu fcanq A ls 3 fdeh- mÙkj dh vksj xkM+h pykrh gSA og nk;sa eqM+rh gS
vkSj 4 fdeh- vkSj Mªkbo djrh gSA fiQj og fiQj ls nk;sa eqM+rh gS vkSj 3
fdeh- pyrh gSA var esa] og ,d vkSj nk;sa eqM+rh gS vkSj fcanq B rd
igq¡pus ds fy, 6 fdeh- pyrh gSA fcanq A ij fiQj ls igq¡pus ds fy, mls
fdruh nwj vkSj fdl fn'kk esa xkM+h pykuh pkfg,\

(a) 3 km towards north/ mÙkj dh vksj 3 fdeh-

(b) 3 km towards west / if'pe dh vksj 3 fdeh-

(c) 2 km towards east / iwoZ dh vksj 2 fdeh-

(d) 2 km towards south / nf{k.k dh vksj 2 fdeh-

51. Ahmet’s house faces north. He came out of his house
and walked straight for 40 m, turned left and walked for
30 m. He then turned right and walked for 35 m. Finally,
he took another two successive right turns and covered
30 m and 25 m, respectively, to reach his final
destination. How far and in which direction is he from
his house now?

vger dk ?kj mÙkj dh vksj gSA og vius ?kj ls ckgj vk;k vkSj lhèks
40 ehVj pyk] ck,a eqM+k vkSj 30 ehVj pykA fiQj og nk;sa eqM+k vkSj 35
ehVj pykA var esa] mlus vius vafre xarO; rd igqapus ds fy, Øe'k%
nks ckj nk;sa eqM+k vkSj Øe'k% 30 ehVj vkSj 25 ehVj dh nwjh r; dhA vc
og vius ?kj ls fdruh nwj vkSj fdl fn'kk esa gS\

(a) 25 m due east/ 25 ehVj iwoZ dh vksj

(b) 15 m due north / 15 ehVj mÙkj dh vksj

(c) 25 m due south / 25 ehVj nf{k.k esa

(d) 50 m due north / 50 ehVj mÙkj dh vksj

52. Deepa starts from her house and cycles 4 km towards
the north and then turns left and cycles
6 km. She again turns left and cycles for X km to reach
her school. Point A is to the east of her school and also
3 km to the south of her house. What is the value of X?

nhik vius ?kj ls 'kq: djrh gS vkSj 4 fdeh- mÙkj dh vksj lkbfdy
pykrh gS vkSj fiQj ck,a eqM+dj 6 fdeh- lkbfdy pykrh gS og fiQj ls
ck,a eqM+rh gS vkSj vius Ldwy igqapus ds fy, X fdeh- lkbfdy pykrh
gSA fcanq A mlds LowQy ds iwoZ esa gS vkSj mlds ?kj ls 3 fdeh nf{k.k esa
Hkh gSA X dk eku D;k gS\
(a) 1 km (b) 3 km

(c) 9 km (d) 7 km

53. Pratima departs from her house and walks 29 m towards
the north and then turns right and walks 16 m. Now
she turns right again and walks 17 m. She again takes
a right turn and stops after walking for 21 m. What is
the shortest distance between Pratima and her house
now? (Assuming that all turns are 90 degree turns only)

çfrek vius ?kj ls fudyrh gS vkSj 29 ehVj mÙkj dh vksj pyrh gS vkSj
fiQj nk,a eqM+dj 16 ehVj pyrh gSA vc og fiQj ls nk;sa eqM+rh gS vkSj
17 ehVj pyrh gSA og fiQj ls nk;sa eqM+rh gS vkSj 21 ehVj pyus ds ckn
#d tkrh gSA çfrek vkSj mlds ?kj ds chp vc U;wure nwjh fdruh gS\
(;g ekurs gq, fd lHkh eksM+ dsoy 90 fMxzh ds eksM+ gSa)
(a) 12 m (b) 13 m

(c) 18 m (d) 17 m
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54. Rajesh drives 4 km towards west from point A and takes

right turn and drives 8 km. He again takes right turn

and drives 8 km. He again takes one more right turn

and drives 4 km. Finally, he takes a right turn and drives

4 km to reach point B. How far and towards which

direction should he drive in order to reach point A again?

jkts'k fcanq A ls if'pe dh vksj 4 fdeh- Mªkbo djrk gS vkSj nk;sa eqM+rk

gS vkSj 8 fdeh- Mªkbo djrk gSA og fiQj ls nk;sa eqM+rk gS vkSj 8 fdeh-

Mªkbo djrk gSA og fiQj ls ,d vkSj nk;sa eqM+rk gS vkSj 4 fdeh- Mªkbo

djrk gSA var esa] og nk;sa eqM+rk gS vkSj fcanq B rd igq¡pus ds fy, 4

fdeh- Mªkbo djrk gSA fiQj ls fcanq A ij igq¡pus ds fy, mls fdruh nwj

vkSj fdl fn'kk esa xkM+h pykuh pkfg,\

(a) 4 km towards west / 4 fdeh- if'pe dh vksj

(b) 2 km towards east / 2 fdeh- iwoZ dh vksj

(c) 3 km towards north / 3 fdeh- mÙkj dh vksj

(d) 4 km towards south / 4 fdeh- nf{k.k dh vksj

55. Diogo’s house faces west. He steps out of his house and

walks 22 m straight. He then turns to his left and walks

20 m. He takes another left turn and walks 25 m. Finally,

he turns left once again and walks further for 24 m to

reach his school. How far is the school from his house

and in which direction with respect to his house?

fM;ksxks dk ?kj if'pe dh vksj gSA og vius ?kj ls ckgj fudyrk gS vkSj

lh/s 22 ehVj pyrk gSA fiQj og vius ck;sa eqM+rk gS vkSj 20 ehVj pyrk

gSA og fiQj ls ck,a eqM+rk gS vkSj 25 ehVj pyrk gSA var esa] og ,d ckj

fiQj ck,a eqM+rk gS vkSj vius LowQy igqapus ds fy, 24 ehVj vkSj pyrk

gSA mlds ?kj ls LowQy fdruh nwj gS vkSj mlds ?kj ds lUnHkZ esa fdl fn'kk

esa gS\

(a) 7m due north-east/ mÙkj&iwoZ esa 7 ehVj

(b) 5 m due north-west / mÙkj&if'pe esa 5 ehVj

(c) 25 m due south-east / nf{k.k&iwoZ esa 25 ehVj

(d) 5 m due north-east / mÙkj&iwoZ esa 5 ehVj

56. Anita starts from her house and cycles 6 km towards

the south and then turns left and cycles 8 km. She again

turns left and cycles for X km to reach her school. Point

A is to the west of her school and also 3 km to the north

of her house. What is the value of X?

vuhrk vius ?kj ls pyuk 'kq: djrh gS vkSj 6 fdeh- nf{k.k dh vksj

lkbfdy pykrh gS vkSj fiQj ck,a eqM+ tkrh gS vkSj 8 fdeh- lkbfdy

pykrh gSA og fiQj ls ck,a eqM+rh gS vkSj vius LowQy igqapus ds fy, X

fdeh- lkbfdy pykrh gSA fcanq A mlds LowQy ds if'pe esa gS vkSj mlds

?kj ds mÙkj esa Hkh 3 fdeh- gSA X dk eku Kkr djsaA

(a) 3 km (b) 9 km

(c) 11 km (d) 7 km

57. Reema starts from her house and cycles 4 km towards

the west and then turns right and cycles 6 km. She

again turns right and cycles for X km to reach her school.

Point A is to the south of her school and also 2 km to

the west of her house. What is the value of X?

jhek vius ?kj ls 'kq: djrh gS vkSj if'pe dh vksj 4 fdeh- lkbfdy

pykrh gS vkSj fiQj nk,a eqM+ tkrh gS vkSj 6 fdeh- lkbfdy pykrh gSA

og fiQj ls nk,a eqM+rh gS vkSj vius LowQy igqapus ds fy, X fdeh

lkbfdy pykrh gSA fcanq A mlds Ldwy ds nf{k.k esa gS vkSj mlds ?kj ds

if'pe esa Hkh 2 fdeh- gSA X dk eku Kkr djsaA

(a) 2 km (b) 6 km

(c) 4 km (d) 8 km

58. From its nest, a bird flew 25 m towards the north-east.

It then took a right turn and flew 7 m. Again, it took a

right turn and flew 75 m. In which direction is the bird

now from its nest?

,d fpfM+;k vius ?kksalys ls 25 ehVj mÙkj&iwoZ dh vksj mM+rh gSA fiQj

;g nk,a eqM+h vkSj 7 ehVj mM+hA ;g fiQj ls nk;sa eqM+h vkSj 75 ehVj mM+rh

gSA fpfM+;k vc vius ?kksalys ls fdl fn'kk esa gS\

(a) North-East / mÙkj&iwoZ

(b) South-West / nf{k.k&if'pe

(c) East / iwoZ

(d) North-West / mÙkj&if'pe

59. Rocky starts from point A and drives 3 km towards east.

He takes left turn and drives 4 km. He again takes a left

turn and drives 3 km. He takes one more left turn and

drives 2 km and stops at B. How far and towards which

direction should he drive in order to reach point A again?

jkWdh fcanq A ls 'kq: djrk gS vkSj iwoZ dh vksj 3 fdeh- pyrk gSA og

ck,a eqM+rk gS vkSj 4 fdeh- Mªkbo djrk gSA og fiQj ls ck,a eqM+rk gS vkSj

3 fdeh- Mªkbo djrk gSA og ,d vkSj ck,a eqM+rk gS vkSj 2 fdeh- Mªkbo

djrk gS vkSj fcanq B ij #drk gSA fcanq A ij fiQj ls igqapus ds fy, mls

fdruh nwj vkSj fdl fn'kk esa xkM+h pykuh pkfg,\

(a) 2 km towards south/ nf{k.k dh vksj 2 fdeh-

(b) 3 km towards east / iwoZ dh vksj 3 fdeh- /

(c) 3 km towards south / nf{k.k dh vksj 3 fdeh-

(d) 2 km towards north / mÙkj dh vksj 2 fdeh-

60. City A is located to the North of city B. City D is located

to the East of city B. City C is located to the West of city

D. City E is located to the South of city C and to the

South-West of city A. What is the position of city B with

respect to city C?

'kgj A, 'kgj B ds mÙkj esa fLFkr gS] 'kgj D, 'kgj B ds iwoZ esa fLFkr

gSA 'kgj C, 'kgj D ds if'pe esa fLFkr gSA 'kgj E, 'kgj C ds nf{k.k

esa vkSj 'kgj C ds nf{k.k&if'pe esa fLFkr gSA 'kgj A, 'kgj C ds laca/

esa 'kgj B dh fLFkfr D;k gS\

(a) West (b) South

(c) North (d) East



1. (d)
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2. (b)
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 S

west dh rjiQ

3. (c)
 North

 South

 West  East

 135º

 NE NW
 90º

 45º
 90º

now his face East

4. (a)

 2 km

 5 km

 2 km

 1 km
 9 km

 B

 5 km

 5 km

 4 km

 9 km

 C

 A

 North-east

In  ABC : AB = 3km

BC : 4 km

AC : (3)² (4)²

9 16 : 25 : 5 km

5 km, North. east

5. (b)
  C

  B

  D

  A  6 km

  8 km

  4 km

  S
ou

th
-w

es
t

  1
0 

km

  South

  C to D = 12 km

  CD–BC
BD = 12–4
B2 = 8 km

BD = 8 km

BA : 6 km

AD : (8)² (6)²

64 36

100 = 10 km

10 km, South-west

6. (a)
  O

  90º
 2

 k
m

 2 km

  45º  A   B

2 2 km
  1 km

  C

  N
or

th
-ea

st

  3
 km

  S
tarti

ng p
oint

Answer-Key

1. (d) 2. (b) 3. (c) 4. (a) 5.  (b) 6.  (a) 7. (d) 8. (b) 9. (b) 10. (b)

11. (b) 12. (d) 13. (c) 14. (c) 15.  (c) 16.  (b) 17. (a) 18. (b) 19. (c) 20. (a)

21. (c) 22. (c) 23. (a) 24. (c) 25. (b) 26. (d) 27. (b) 28. (d) 29. (d) 30. (d)

31. (b) 32. (c) 33. (c) 34. (a) 35. (a) 36. (d) 37. (c) 38. (a) 39.(d) 40. (a)

41. (b) 42. (d) 43. (b) 44. (a) 45. (b) 46. (c) 47. (a) 48. (b) 49. (d) 50. (c)

51. (d) 52. (d) 53. (b) 54. (d) 55. (d) 56. (b) 57. (a) 58. (b) 59. (a) 60. (d)

Answer With Explanation
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In  AOB

AO = 2 km

OB = 2 km

AB : (2)² (2)²

8

2 2

In  ABC

AB = 2 2  km

BC : 1 km

BC : (2 2)² (1)²

8 1 = 9 = 3 km, North-East

7. (d)
 North

 South
 Right

 West  East

 Left
 Right

 Left

Face west Reverse East  Left hand  North

8. (b)
 Morning

 Person

 Reeta

 L/R

 left

 Shadow

 West

 W/E

 Kavita  face  South

9. (b)

Sun

Gopal

R L

S
h

a
d
o
w

P
o
n

d

South

10. (b)

D C
B

EA 60m

50m

60m 60m
120m

In triangle ADB

AB =    
2 2

120 50

= 14400 2500

= 16900  = 130 m

11. (b) 20mB A C

20
m20m

90º

BC =    CD BD
2 2

BC = 2 220 20

= 400 400

= 800

20 2 m

Then AB   BC – AC

= 20 2  – 20

20 ( 2  – 1)m

12.(d) E

6m

D 3m
B

F

24m

6m

7m

10m E

A
In triangle ABF

AB =    AF FB
2 2

    
2 2

24 7

 576 49

 625 = 25m (N.W)

13. (c)

Bus 
Stand

School

From bus stand bus turns two times right and

one time left. Hence we can cancel A right turn

to a left turn. So Bus Face in west on Bus stand.

14. (c) Shadow Ram

R L

L R

Shyam

Sun

Shadow is falling in the left of Shyam. Hence

Shyam's face was in North

15. (c)

Sun

Rohit

R L

L R

Electric
Board

Shadow

Rohit's face was in South
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16. (b)

Hour hand at 4 :30

Minute hand at 7:00

N

135º

N.W.
N

S

N.E.

EW

S.W. S.E.

We will rotate 135º Anticlock wise from North.

Ans. South- West

17. (a)

Minute hand
at 4 : 30

North-East

135º

Hour hand 
at 10:30

We will rotate 135º anti clockwise form N.E.

Ans. South

18. (b) 4 miles 2 miles 

1 m 

6 m 

4 m 

3 m 

starting Point

Last Point

Man facing to the south direction

19. (c) D 12 km. C 

B 10 

3 

A E km. 

3 km. 

West

A E

He is in West direcion from 'Starting Point' A.

20. (a) Lunch 30 km. Breakfast 

SupperEvening Tea

20 km. 20 km. 

30 km. 

He is driving to the east after evening tea.

21. (c)

Uncle’s 
house

They are going North-East direction.

22. (c)

Market 

Mall 

School 

School is in the South from the mall.
23. (a)

A B

E D

C

C is South-West to the D.

24. (c)

1
4
m

.

10m.

14m. Starting 
Point

Present 
Position

10m.
1
4
m

.

Distance between Mamta's starting point and
present position is = 14m + 10m = 24 m

25. (b) MarketFriend’s
House 5km.

5km.
Booking
office

3km.3km.

House

Ashok has to cover 3 km. to reach his house.

26. (d) 7km.

3km. 4km.

4km.4km. Starting
 Point

SidharthMurli

The required distance = 7 km.

(Between Sidharth and Murli)
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27. (b)

D

C 8km. B

8km.

5km.
2km.

3km.

A

E

AE = 3km.

28. (d)

1ft

1ft

3ft

3ft

4ft
T

U O

P

Q

W

V
4ft

4ft

Distance from T to O = 4 + 4 = 8 ft

29. (c)

1km.

2km.

2km.

Starting 
point

Karan is in South-West region w.r. to starting

point.

30. (d)

15km.

15km.

15km.15km.

2
0
k
m

.

30km.2
0
k
m

.

30km.

Starting
Ponit

Kiran is 30 km. away from starting point.

31. (b) Kiran is facing West direction.

32. (c)

T R

S

Q P

33. (c) 36

36

47Main gate

25

22

Gaurav is 22 m north from his house.

34. (d)

135º

90º

45º

135º Rita

She is facing east direction now.

Trick:

tSlk fd ge tkurs gSa clockwise vkSj anti-clockwise ,d&nwljs
ds foijhr gksrs gSaA

Clockwise Anti-clockwise

135° 90°

45° 135°

 180° 225°

 225° – 180° = 45° (Anticlock)

45° anti-clockwise tkus ij mldk face east (iwjc) fn'kk
esa gksxkA

35. (a) C B

A F

E

D

40

30

60

40
50

50

Location of C is 40m north with reference to A.

36. (d)
9 km

9 4

11 km

13 km

11 km

Now, Srinija is 11 km away from her initial positon.

37. (c)
U W Q S P T V R

R is sitting fourth to the right of S.

38. (a)

Sun

Ayan

Chitrashi


LR

RL 

Ayan is facing in south direction.

39. (d) 30 m

40 m

House

75 m

75 m

Finally she was running in east direction.

40. (a) Clockwise Anticlockwise

180º –45º

= 135º

After rotating 135º clockwise the resultant figure is

option (a).

41. (b)

Sun

Loka

Kritika

 LR

RL 

Keritika is facing in north direction.
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42. (d) T

Y

K

G S

C

6

6
3m 5m

12m
13

Shortest distance between G and C

=
2 2(12) (5)  = 169  = 13m.

43. (b)
Sweta's Office

150m

80m 200m

60m
80m

A

DE

F B C
Bank

2 0m8

2
1

0
m

By Pythagoras theoram,

2 2210 200 84100   = 290 m.

Shortest distance between office and Bank = 290

m.

44. (a) Clockwise Anticlockwise

 

135º — 45º

= 90º clockwise

By rotating 90° clockwise the resultant figure is

option (a).

45. (b)

23

36

X

H 18m

23

X = 36 – 18 = 18m

46. (c)

35 35

123018
9

60

10X

9

20 10

X = 60 – (18 + 12 + 10) = 20 m

47. (a) Clockwise Anticlockwise

135º – 45º

= 90º clockwise

By rotating 90º clockwise the resultant figure is

option (a).

48. (a) Clockwise Anti-clockwise

90° 180°

180° 135°

270º 315º

315° – 270° = 45° (ACW)

tSls fd gesa 'kq:vkr dh fn'kk <wa<uh gS rks gesa 45° ?kM+h ds fn'kk

esa ?kweuk iM+sxkA vFkkZr ?kweus ls igys og iwjc fn'kk esa [kM+h FkhA

49. (d) Neha is 44m far from the pole that is exactly 32 m
north from her home.

*Pole

Home

32

44

32

5151

44

83

50. (c) She should drive 2 km east from point B to reach
point A.

4 km

3 km 3 km

4 km
2 km

B

6 km

A

51. (d)
30m

30m

35m

H

40m

25

10

He is (40 + 10) = 50 m north from his house now.

52. (d)

6 km

4 km

H7 kmX

School A
6 km

4 km

3 km

X = 4 + 3

= 7 km

53. (b) C

B

D16m

17m

E
29m

F

A

5m 16m

BA = 29 – 17 = 12

BF = 21 – 16 = 5

Shortest distance between pratima and her house

AF = 2 2(BA) (BF)

=
2 2(12) (5)

= 144 25

= 169

= 13
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54. (d)
8 km

4 km

8 km
B

4 km
A

4 km

He has to drive 4 km towards south direction from
point B to reach point A.

55. (d) Shortest distance between Home and school

22m

22m

25m

3m

20m 20m

4m

3m
Home

24m

School

= 2 2(3) (4)

= 25

= 5 m

So, the school is 5 m far in north east direction from
his home.

56. (b)
SchoolA

X km

House

8 km

6 km

3 km

X = 6 km + 3 km

= 9 km

57. (a)
2

2km 2km

X

6 km

A

School

Home
4km

X = 4 – 2 = 2km 

58. (b) North

South

West

Sou
th

-W
es

t

East

7
25

75

Nor
th

-e
as

t

59. (a) 3 km

3 km

4 km

A

B

2 km

2 km

He should drive 2 km south to reach point A again.

60. (d)

City B is located to the east of City C.


